
DREAMLANDSCHOOL

HOMEASSIGNMENT2020-21

CLASSIV

SUBJECT–SOCIALSTUDIES

S.S.T–CH-1–ANSWERS:-

A.1.AncientPeriod

2.ModernPeriod

3.History

B.1.Historyisthestudyofpastevents,peopleandtheirlives.

2.Historyisdividedintothreeperiods.

(i)AncientPeriod(ii)MedievalPeriod(iii)ModernPeriod

S.S.T–CH-2-ANSWERS:-

A.1.Two

2.Archaeological

3.Pottery

4.Ramayana

5.Heritage

__________________________________________________________________________________

Chapter-1

Someextraquestions:-

1.Whatdowelearnfrom history?

Answer:-Welearnfrom history-

a)Thelifestyleofthetheancientpeople.

b)Thethingstheyused.

c)Theincidentsthathappenedinpast.



2.Whydoweneedtolearnhistory?

Answer:-Weneedtolearnhistoryto-

a)toknowourheritage.

b)toknowaboutthedevelopmentofcivilization

c)toknowthelifeandcultureofourancestors.

Chapter-2

1.Namesomeliterarysourcesofhistory.

Answer:-Someliterarysourcesofhistoryare-

a)Religioustext,b)Proclamation,c)Inscription.

2.Namesomearchaeologicalsourcesofhistory.

Answer:-somearchaeologicalsourcesofhistoryare-

a)oldcoin,b)monument,c)artefacts

3.Whyshouldwepreservethesourcesofhistory?

Answer:-Weshouldpreservethesourcesofhistorytogaintheknowledgeaboutourpast

andthedevelopmentofourcivilization.

Homeassignments:-

1.Answerthefollowingquestions:-

a)whoishistorian?

b)whoisanarchaeologist?

c)namethreeancientcivilization.

d)whatareareartefacts?



                     DREAMLAND CHILDREN’S CORNER 

                                     SOLUTION   OF  1ST   HOME  ASSIGNMENT(2020-21)  

                                             CLASS – IV      SUBJECT – MATHEMATICES  

                                                               CHAPTER-1-LARGE NUMBERS 

 

SOLUTION 

(1)Write the numbers for the number names:-                                 

 

Ans;-         i) Eighty three thousand two hundred one – 83,201 

                   ii) six lakh twenty five thousand- 6,25,000 

(2)Read the number and write the number names:- 

 

Ans          - i) 70,135 -  Seventy thousand one hundred thirty five. 

                  ii) 5,29,816 – Five Lakh twenty nine thousand eight hundred sixteen. 

(3)Write the expanded form.:- 

 

Ans          i) 77,825 – 70,000+7000+800+20+5 

                  ii) 7002- 7000+100×0+10×0+ 2 =7000 + 2 

(4) Write the place value and face value of the underlined digit. 

 

Ans           i) 80,437 -        place value -80,000                 face value  - 8 

                  ii) 7 8 0 2   -     place value -800                   face value   -8 

(5)Arrange  in ascending order. 

 

Ans         i) 4301, 8632, 5590, 2857 – 2857,4301,5590,8632 

                ii) 34,789; 12,654; 67,908 – 12,654, 34,789, 67,908 

(6)Arrange in descending order. 

 

Ans            i) 34,789; 12,654 ; 67,908 ; 13,456 –   67,908 ,  34,789 , 13,456, 12,654 

                  ii)9874 ; 9987 ; 9652 ; 9562-        9987 , 9874 , 9652, 9562 

(7) Build the greatest and the smallest numbers;- 

  

Ans            i) 8,4,1,3,6 – greatest number- 86,431       smallest number- 13,468 

                 ii) 7,9,0,5,7 – greatest number-97,750         smallest number- 50,779. 

(8) Build the greatest and the smallest 5-digit numbers with the given 3-digits by repeating 

the digits as required;- 

  

Ans-          i) 1,3,6 – greatest 5-digit number-66,631    smallest 5-digit number-11,136. 

                 ii) 7,9,0 – greatest 5-digit number- 99,970   smallest 5-digit number-70,009 

(9)Write the Roman numerals.  

                                              

                                Ans   i)20 - XX; ii)33- XXXIII ; iii)15 - XV 

(10)Write the Hindu-Arabic numerals.     

                                 Ans   i)VI - 6 ;  ii)XIV- 14 ; iii)XXIV - 24. 



                                         DREAMLAND CHILDREN’S CORNER 

                                 SOLUTION   OF  1ST   HOME  ASSIGNMENT(2020-21)  

                                     CLASS – IV      SUBJECT – MATHEMATICES  

                    CHAPTER-2-ADDITION 

SOLUTION 

Use the properties of addition to add. 

a) 9582 + 2642 = 2642 + 9582. 

b) 3509 + 1 = 3510 

c) 4040 + 0 = 4040 

d) (3589+2461)+7703 = (2461 +7703) + 3589 

e) 1   + 6319 =6320. 

1) ADD: Answer 

  1) 7447        2)  4724        3)       5736 

  +  8456         +  7076           +     6269 

                 15903           11800                12005 

2) ADD:Answer 

 1)  6490      2)     4634    3)   3739 

      1442               5059          7191 

               + 3605         +   2277       + 1600 

    11537             11970        12530   

3) Write in columns and add.         Answer 

i) 567 + 643                  i)567      ii)   2821                 iii)   1074 

ii) 2821 + 490 + 706      +643              490                         2306        

iii) 1074 + 2306 + 23       1210        +   706                   +       23 

                                                                    4017                        3403 

4) Problem sum:-    Solution                          

 i)There are 435 red,127 grey and 269 white cars in a parking lot.                                                                                                                                                                      

How many cars are there in the parking lot? 

             

  Ans-                      There are 435 red cars in parking lot. 

                                    127 grey cars in  parking lot. 

                                    269 white cars in parking lot. 

           Total number of cars in the parking lot = (435+127+269 ) 

                      435 

                      127 

                   + 269 

          831 

           Ans- There are 831 cars in the parking lot. 

                                                                                                                                                                 

ii) There are 3671 cows,5400 buffaloes and 4820 sheep in a village. How many animals are   

there in that village? 

 

                                 

    



    Ans                            There are 3671 cows in a village. 

                                           5400 buffaloes in the village. 

                                           4820 sheep in the village. 

 

 Total number of  animals in that village = (3671+5400+4820 ) 

 

                      3671 

                      5400 

                   + 4820 

          13891 

Ans- There are 13,891 animals in that village. 

 

         _______________________________ END_________________________________ 

 

 

DREAMLAND CHILDREN’S CORNER 

                               2nd  HOME  ASSIGNMENT AND STUDY MATERIAL (2020-21)              

                                     CLASS – IV      SUBJECT – MATHEMATICES  

                                                         CHAPTER-1-LARGE NUMBERS              

In the first assignment I have explained you about large numbers.I gave some works to do 

also.   

Now I am explaining more about on Expanded form: 

Let us consider the number 34,657. It can be written as: 

34,657=3 ten thousands+4 thousands+6 hundreds+5 tens+7 ones 

34,657= (3×10,000)+(4×1,000)+(6×100)+(5×10)+(7×1) 

34,657= 30,000+4,000+600+50+7 

These three forms are the expanded forms of the number 34,657. 

Exercise 1 – A) Fill in the blanks. 

1)7,34,925 =  7      lakhs +  3   ten thousands +  4     thousands +   9     hundreds+      2      tens 

+    5      ones . 

2)4,18,346 = 4,00,000 + 10,000 +    8000     + 300 +    4   +   6. 

HOME ASSIGNMENT 

Try to do-A) Write in the Expanded form . 



1)3,53,439    2) 8,56,439       3)  3,05,607 

 B)-Write in the Standard form. 

Examples:1)4,000 + 300 + 80,000+ 8 + 20 =   80,4328 

Do: 1)5 thousands + 2 tens + 3 hundreds + 6 ten thousands + 1one = ______________  

        2)8,00,000 + 6,000 + 6 = ________________________ 

        3)40,000+200+5 = __________________ . 

Successor and predecessor 

The successor of a number is the number that comes just after it. It is obtained by 

adding 1 to the number. 

Example- i)The successor of 99,999 is 99,999+1 =1,00,000 

               ii)The successor of  23,426 is  23,426 + 1 = 23,427 . 

The predecessor of a number is the number that comes just before it.It is obtained by 

subtracting 1 from the number.   

Example-i) The predecessors  of 5,00,000 is 5,00,000-1 = 4,99,999. 

                ii)The predecessors of  27,501 is 27,501- 1= 27,500. 

HOME ASSIGNMENT 

Exercise 2: 

Try to do: A)Find the successors of the following numbers: 

1)7,90,900- _________ 

2)55,554 - __________ 

3)9999 -  __________ 

4)1,11,119 - _________ 

5)4999 - ___________ 

B) Find the predecessors of the following numbers: 



1)49,100 - ____________ . 

2)10,000 - ___________ 

3)6,53,410 - ____________  

4)5,39,100- ___________ 

5) 27,501- _____________ 

 

 

 

 

 

     

 

 

 

 

 

 

 

 

 



DREAMLAND CHILDREN’S CORNER (2020-2021) 

SOLUTION OF 1st HOME ASSIGNMENT 

CLASS- IV        SUB- SCIENCE 

CHAPTER- 1 (HUMAN BODY: THE FOOD WE EAT) 

 

A. ANSWER THE FOLLOWING QUESTIONS -  

 

1. What are the components of essential nutrients? 

   ANS - The components of essential nutrients are proteins, fats, carbohydrates, 

vitamins & minerals. 

 

2. Write the names of different types of vitamins. 

ANS – The different types of vitamins are vitamin A, B, C, D,  E and K.  

 

 

3. Write three examples of protein, fats and carbohydrates . 

 

ANS – Proteins - Eggs, milk, meat, (milk) 

             Fats - Cheese, chocolate, nuts 

            Carbohydrates - Rice, cereals, fruits,( bread, beans potato, corn) 

 

 

B.  FILL IN THE BLANKS-  

 

1. Food is usually of animals and plants origin. 

2. Food provides energy of the living organism.  

 

 

 

 

 



DREAMLAND CHILDREN’S CORNER (2020-2021) 

SOLUTION OF 1st HOME ASSIGNMENT 

CLASS- IV        SUB- SCIENCE 

CHAPTER- 1 (HUMAN BODY: THE FOOD WE EAT) 

 

A. ANSWER THE FOLLOWING QUESTIONS –  

 

1. What are herbivores, carnivores and omnivores? Give examples. 

ANS –  

 Herbivores -  The animals those eat only plants are called herbivores. Ex- goats, deer, horse, 

cows. 

Carnivores -  They have chisel like incisors, large flat premolars and molars. The animals eat 

the flesh of other animal are called carnivores. Ex- lion, tiger. 

Omnivores - . Omnivores are those animals who eat both plant and flesh of other    animals. 

Ex- human, pigs, bear. 

2. What are the function of incisors and canines? 

 

The functions of the teeth are -  

Incisors are used to cutting food into small chewable pieces. 

Canines are used to tear the food mainly flesh. 

3. What are the numbers of incisors, canines, premolar and molar teeth in each jaw? 

 

Four incisors teeth , two canines teeth, four  premolar teeth and six molar teeth are 

present in each jaw of an adult person.  

 

4. How many teeth are present in a normal adult mouth? 

 

A normal adult mouth has 32 teeth in two jaws. 

 

B.  FILL IN THE BLANKS-  

 

1. Carnivores  have sharp and pointed  canine teeth.  

 

2. Molars are large teeth at back  of the mouth.  

 

 



DREAMLAND CHILDREN’S CORNER (2020-2021) 

EXPLANATION AND 2nd HOME ASSIGNMENT 

CLASS- IV        SUB- SCIENCE 

CHAPTER- 1 (HUMAN BODY: THE FOOD WE EAT) 

 

EXPLANATION –  

1) COMPONENTS OF FOOD – 

 

I. Carbohydrates-    It provides energy to our body. Food items rich in carbohydrates are 

called Energy giving food.  The two main types of carbohydrates are sugar & starch.  

 

II. Protein-    Proteins are the nutrients those help in growth and repair of our body , also 

help in building our muscles. Foods those are rich source of proteins are called Body 

building food.  

 

III. Fats -  It provides more energy to our body than carbohydrates. It keeps our body 

warm. Food those are rich sources of fats are called Energy giving food.  

 

IV. Vitamins & Minerals -  These type of foods protect our body from disease and keep us 

fit and healthy. Foods those are rich sources of vitamins and minerals are also called 

Protective foods.  

 

A, B , C, D & K are types of vitamins. Calcium, potassium, iodine and iron are some 

minerals.  

           Different vitamins have different roles to play within the body. Green vegetables , 

eggs and dairy products are rich in vitamins A which improves eyesight and maintain 

healthy skin. Milk, fish, eggs are example of vitamins D which is important for healthy 

bones and teeth.  

       Calcium is needed for formation of bones and teeth.  Milk , curd, cheese are example 

of calcium rich food. Iron is needed for formation of blood. Green leafy vegetables, 

apples, carrot are examples of iron rich food.  



      Water is an essential part of our body. It is helpful for digestion and essential of blood  

and other body fluids. We must drink sufficient amount of water every day ( 2- 2.5 lit / 

day). 

 

2) AVOIDING WASTAGE OF FOOD –  

  Food gets spoilt when it is not stored properly. Eating food those are spoilt is unhealthy 

and can make us sick. Food should be prevented from getting spoilt. Some methods of 

preserving food are given below-  

a) Pickling – in this method fruits and vegetables are mixed with salt and oil. Example 

– the pickling of mango. 

b) Canning and bottling- food is stored in tin cans and glass bottle in this method. 

Example- the canning fish and bottling of jams. 

c) Refrigeration – food is kept inside refrigerator at a low temperature in this method. 

Example- storing of food and vegetables in refrigerator.  

d) Deep freezing -  Food is kept inside the freeze at very low temperature. Example- 

seafood and meat keep in freeze.  

 

A) FILL IN BLANKS WITH ANSWER-  

1.  Eating food that has got spoilt is unhealthy and can make us sick.  

2. Iron is needed for formation of blood.  

3. Formation of bones and teeth calcium is needed. 

HOME ASSIGNMENTS-  

A)  WRITE TRUE AND FALSE-  

1. Water is an essential part f our body.   

2. Fish is a good source of carbohydrates.  

3. Vitamins D is responsible for improving eyesight And maintain healthy skin.  

B) ANSWER THE FOLLOWING QUESTIONS –  

1. Explain the four methods to preserve food. 

2. Why should we drink enough water every day? 



DREAMLANDCHILDREN'SCORNER
CLASS-4

COMPUTER
CH-1(COMPUTERS-STORAGE&MEMORYDEVICE)

Data&informationarenotthesame,butrelatedtoeachother.Datausually

representsunprocessednumbers,picturesorstatements;informationistypicallythe

resultofprocessingthedata.InotherwordsDataisraw,unorganizedfactsthat

needtobeprocessed.Datacanbesomethingsimple&seeminglyrandom &useless

untilitisorganized.Whendataisprocessed,organized,structuredorpresentedina

givencontextsoastomakeituseful,itiscalledinformation.Nowseehowdata

differsfrom information-

 Whiledatadoesnotdependoninformation,informationdoesdependondata.

 Datais“input”andinformationis“output”.

 Dataisasingleunit&informationisagroupingofdata.

Storagereferstothemedia&methodsusedtosaveorkeepinformationavailable

forlateruse.Data/informationarestoredelectronicallyonatemporarybasisor

permanentbasisusingthedevicecalledcomputermemory.Computersstore

information/datainsidethememoryinthesequencesof0s&1scalledbinarydigits

(bits).Abitisthesmallestunitofdatainacomputer.Abithassinglebinaryvalue;

either0or1,sobitsaregatheredintoagroupofeighttoform abyte.

Computerstorage&memoryisoftenmeasuredinkilobytes(KB),megabytes(MB),
gigabytes(GB),Terabytes(TB)etc.

Unitsofcomputermemory

8Bits=1byte

1024Bytes=1KB(KiloByte)

1024KB=1MB(MegaByte)

1024MB=1GB(GigaByte)

1024GB=1TB(Terabyte)

1024TB=1PB(PetaByte)

Acomputerhastwotypesofphysicalmemoryorstorage:primary&secondary.

A.Answerthefollowingquestions:

1.Differentiatebetweendata&information.

2.Whatdoyoumeanbycomputermemory?

3.Definethefollowingterms:

a.Data

b.Information



B.Fillintheblanks:

1.Computersstoreinformation/datainsidethememoryinthesequencesof

0s&1scalled__________________

2.________isthesmallestunitofdatainacomputer.

3.Bitsaregatheredintoagroupofeighttoform a__________.



DREAMLAND CHILDREN’S CORNER 
HOME ASSIGNMENT 

CLASS –IV 

                    SUBJECT- ENGLISH LANGUAGE 

    CHAPTER- 6 [NOUNS: POSSESSION] 

 

              Possessive Nouns are the nouns that show ownership or possession. Normally these 

words would be a singular or plural noun, but in the possessive form they are used as 

adjectives to modify another noun or pronoun. Example: The cat’s fur is a matted mess. Here 

the word “cat’s” is a possessive noun. It is letting you know that the noun “fur” belongs to 

the cat. The cat owns the fur. Here are the rules of forming the possessive nouns: 

 

For most singular nouns, add apostrophe + s. Example: The dog’s leash The writer’s desk 

The planet’s atmosphere 

 

For most plural nouns that end in ‘s’, add only an apostrophe. Example: The dogs’ leashes 

(multiple dogs) The writers’ desks (multiple desks) The planets’ atmospheres (multiple 

planets) 

 

For plural nouns that do not end in ‘s’, add apostrophe  + s. Example : the children’s toys 

The geese’s migration route. 

 

For singular proper noun ending in ‘s’, add apostrophe. Example: Charles Dickens’ novels 

DO IT YOURSELF 

A) Write the correct form of the possessives into the gaps: 

1) Sarah is ______ aunt. ( Emily) 

2) These are our ____ cats. (friends) 

3) Let’s meet at _____ for lunch. (Giovanni) 

4) My _____ dad is my uncle. (cousin) 

5) Did you read ______ newspaper? (yesterday) 

6) _____ and ____ bags are black. (Jack, Joe) 

7) Our grandparents live in an old ____ home. (people) 

8) That sandwich would not be to _____ taste. (everyone) 

 

B) Read the first sentence. Finish the second sentence using the possessive apostrophe + s: 

1) The lunch box belongs to Bob. It is Bob’s lunch. 

2) The pencil belongs to Dave. It is _________________. 

3) The game belongs to Lisa. It is __________________. 

4) The folder belongs to Ann. It is __________________. 

5) The shoes belong to Jill. It is ____________________. 

C) Rewrite each of the following sentences using the possessive form of the noun that is 

underlined:  

Example:  We drove to the movies in the car that belongs to my aunt. We drove to the 

movies in my aunt’s car. 

1) The dog that belongs to Bella not a poodle.  

2) The bricks that are a part of our house are red and white.  

3) We bought a picnic basket of goodies made by Mrs. Finch.  

4) The seats in the theatre are comfortable. 

5) The teacher kept the windows of the classroom closed. 

 



DREAMLAND CHILDREN’S CORNER 
HOME ASSIGNMENT 

CLASS –IV 

                     SUBJECT- ENGLISH LANGUAGE 

            CHAPTER- NOUNS: GENDER 

SOLUTIONS 

         EXERCISE-A 

1) Lion 

2) Hostess 

3) Land-lady 

4) Monk 

5) Grand-son 

          EXERCISE-B 

1) She is a generous hostess. 

2) Madam, what would you like to have? 

3) They have bought a new lioness to the zoo. 

4) The crowd rushed to greet the actress. 

5) He remained a bachelor. 

6) You don’t see many milkmaids today. 

7) My niece sings very well. 

8) The mare cleared the hurdle easily. 

CHAPTER: SUBJECT AND PREDICATE (SOLUTIONS) 

           EXERCISE-A 

1) The sun (subject) / was shining brightly (predicate). 

 

             2) The dogs (subject) / were barking loudly (predicate). 

            3) The pretty girl (subject) / was wearing a blue frock (predicate). 

            4)  My younger brother (subject) / serves in the army (predicate). 

            5) The man and his wife (subject) / were working in the garden (predicate). 

            6) My mother and my aunt (subject) / are trained classical dancers (predicate). 

            7) You (subject) / don’t have to wait for me (predicate). 

            8) The little tree (subject) / was covered with needles instead of leaves (predicate). 

           9) We (subject) / will no longer tolerate this (predicate). 

         10) A rich merchant (subject) / was passing by the shoemaker’s window (predicate) 

EXERCISE-B 

1) Aeroplanes are flying objects with tail and wings. 

2) Monkeys are said to be worshiped in Togo. 

3) My sister won the first prize in the drawing competition. 

4) Our school has a big playground.     5) Birds flew to their nests. 



 
 










